

# On anomalous diffusion and the fractional generalized Langevin equation for a harmonic oscillator

R. Figueiredo Camargo, E. Capelas de Oliveira, and J. Vaz

Citation: J. Math. Phys. **50**, 123518 (2009); doi: 10.1063/1.3269587 View online: http://dx.doi.org/10.1063/1.3269587 View Table of Contents: http://jmp.aip.org/resource/1/JMAPAQ/v50/i12 Published by the American Institute of Physics.

# **Related Articles**

Radiative transfer and diffusion limits for wave field correlations in locally shifted random media J. Math. Phys. 54, 021501 (2013)

Ratchet effect and amplitude dependence of phase locking in a two-dimensional Frenkel-Kontorova model J. Chem. Phys. 138, 034307 (2013)

Group properties and invariant solutions of a sixth-order thin film equation in viscous fluid J. Math. Phys. 54, 013510 (2013)

Communication: How to generate and measure anomalous diffusion in simple systems J. Chem. Phys. 138, 021101 (2013)

Scaling investigation for the dynamics of charged particles in an electric field accelerator Chaos 22, 043148 (2012)

## Additional information on J. Math. Phys.

Journal Homepage: http://jmp.aip.org/ Journal Information: http://jmp.aip.org/about/about\_the\_journal Top downloads: http://jmp.aip.org/features/most\_downloaded Information for Authors: http://jmp.aip.org/authors

# ADVERTISEMENT

The most comprehensive support for physics in any mathematical software package World-leading tools for performing calculations in theoretical physics



www.maplesoft.com/physics

- Your work in Maple matches how you would write the problems and solutions by hand <u>State-of-the-art environment for algebraic computations in physics</u>
- The only system with the ability to handle a wide range of physics computations as well as pencil-and-paper style input and textbook-quality display of results

 Access to Maple's full mathematical power, programming language, visualization routines and document creation tools

# On anomalous diffusion and the fractional generalized Langevin equation for a harmonic oscillator

R. Figueiredo Camargo,<sup>1,a)</sup> E. Capelas de Oliveira,<sup>2,b)</sup> and J. Vaz, Jr.<sup>2,c)</sup> <sup>1</sup>Departamento de Matemática, Faculdade de Ciências, UNESP, Bauru, São Paulo 17033-360, Brazil <sup>2</sup>IMECC, Universidade Estadual de Campinas, CP 6065, Campinas, São Paulo 13081-

970. Brazil

(Received 30 July 2009; accepted 4 November 2009; published online 18 December 2009)

The fractional generalized Langevin equation (FGLE) is proposed to discuss the anomalous diffusive behavior of a harmonic oscillator driven by a two-parameter Mittag-Leffler noise. The solution of this FGLE is discussed by means of the Laplace transform methodology and the kernels are presented in terms of the threeparameter Mittag-Leffler functions. Recent results associated with a generalized Langevin equation are recovered. © 2009 American Institute of Physics. [doi:10.1063/1.3269587]

#### I. INTRODUCTION

Anomalous diffusive processes associated with a  $physical^{1-3}$  or a biological<sup>4-6</sup> process can be discussed in terms of the generalized Langevin equation (GLE).<sup>7-9</sup> In the literature we can find some recent papers on anomalous diffusion.<sup>10-20</sup>

There are many physical systems which are related to diffusion, the so-called diffusive processes, for example. The Brownian motion is a diffusive process. A simple classification of the diffusive processes can be associated with the mean square displacement (MSD) given by  $\langle x^2(t) \rangle$ , where x(t) is the position of a particle in the time t. For the normal diffusion, the MSD grows linearly with time,  $\langle x^2(t) \rangle \sim t$ , while the other cases we have the so-called anomalous diffusion or, in general, anomalous diffusive processes, whose MSD grows as  $\langle x^2(t) \rangle \sim t^{\nu}$ , where  $\nu \neq 1$ , i.e., the MSD does not grow linearly with time. When  $\nu > 1$  we say that we have superdiffusion, and for  $\nu < 1$  that we have subdiffusion. In both cases the anomalous diffusion depends on a unique parameter.

The Mittag-Leffler function and its generalizations are useful in the study of anomalous diffusion. In Ref. 21 a type of Mittag-Leffler function was introduced in the study of kinetic equation, random walks, and anomalous diffusion.<sup>8,9</sup> It appears also in the calculation of some fractional Green's functions associated with the reaction-diffusion equations.<sup>22</sup> This Mittag-Leffler function also appears in Ref. 17 in the definition of a one-parameter correlation function.

Our objective in this paper is to discuss the fractional version of the GLE with the correlation function being given by a generalized Mittag-Leffler function involving two parameters, i.e, a two-parameter correlation function.

The paper is organized as follows. In Sec. II we present the classical Langevin equations, i.e., we recover the GLE and we introduce the fractional GLE (FGLE). Section III contains a formal solution of the FGLE in terms of the Laplace transform of the relaxation function. In Sec. IV, using a correlation function, given in terms of a two-parameter Mittag-Leffler function, we cal-

50. 123518-1

© 2009 American Institute of Physics

<sup>&</sup>lt;sup>a)</sup>Electronic mail: rubao\_camargo@yahoo.com.br.

<sup>&</sup>lt;sup>b)</sup>Electronic mail: capelas@ime.unicamp.br.

<sup>&</sup>lt;sup>c)</sup>Electronic mail: vaz@ime.unicamp.br.

culate the corresponding Laplace transform and present the kernels in terms of the three-parameter Mittag–Leffler functions. In Sec. V we present the temporal behavior of the relaxation functions, and, in Sec. VI, we consider some particular cases of our approach.

#### **II. THE LANGEVIN EQUATIONS**

The classical Langevin equation and GLE were revisited and a fractional treatment was proposed some years ago by Mainardi and Pironi.<sup>23</sup> In that paper the authors discussed the Langevin equation associated only with velocity. To discuss the Langevin equation associated with the displacement, one must calculate an integration with respect to time variable.

In this section, we consider the classical Langevin equation, as discussed by Viñales *et al.*,<sup>24</sup> and we introduce the FGLE which we will discuss in Sec. III.

#### A. The GLE

In Ref. 24 the authors discussed the anomalous diffusive behavior of a harmonic oscillator driven, with frequency  $\omega$ , by a Mittag–Leffler noise, i.e., they discuss the so-called GLE,

$$\mathbf{D}_{t}^{2}x(t) + \int_{0}^{t} \gamma(t - t')\mathbf{D}_{t'}x(t')dt' + \omega^{2}x(t) = \xi(t),$$
(1)

where  $\mathbf{D} \equiv d/dt$  and x(t) represents the position of a particle of mass m=1 at time t and  $\gamma(t)$  is the frictional memory kernel and  $\xi(t)$  is a random force obeying the fluctuation-dissipation theorem.

Using another recent result<sup>16</sup> the authors introduced a Mittag–Leffler noise, i.e., the memory kernel is given by

$$\gamma(t) = \frac{1}{k_B T} \frac{C_\lambda}{\tau^\lambda} E_\lambda [-(|t|/\tau)^\lambda], \qquad (2)$$

where  $\tau$  acts as a characteristic memory time and  $0 < \lambda < 2$ . The  $E_{\mu}(\cdot)$  denotes the classical Mittag–Leffler function and  $C_{\lambda}$  is a coefficient dependent on the parameter  $\lambda$  but independent of time. Also,  $k_B$  is the Boltzmann constant and T is the absolute temperature of the environment.

The analytical relaxation functions for a Mittag–Leffler noise are presented in terms of the classical Mittag–Leffler function and the derivative of the two-parameter Mittag–Leffler function. The temporal behavior of the relaxation functions closes the paper.

#### B. The FGLE

In this section we discuss a generalization of the results obtained in Ref. 24 by means of the two-parameter Mittag–Leffler function, i.e., we permit the memory kernel given by a two-parameter Mittag–Leffler function, and the temporal behavior to be dependent of two parameters.

First, we introduce a generalized Mittag–Leffler noise by the following two-parameter correlation function:

$$C(t) = \frac{C_{\lambda}}{\tau^{\lambda}} t^{\nu-1} E_{\lambda,\nu} [-(|t|/\tau)^{\lambda}], \qquad (3)$$

where  $C_{\lambda}$  is a constant and  $\tau$  acts as a characteristic memory time,  $0 < \lambda \le \alpha + \nu - \beta$  (see below for definition of  $\alpha$  and  $\beta$ ) with  $\lambda \ne \{1,2\}$ , and  $\nu > 0$ . We observe that this condition will follow from Eq. (26), and when  $\alpha=2$ ,  $\beta=1$ , and  $\nu=1$ , we have the conditions  $0 < \lambda < 1$  and  $1 < \lambda < 2$  as in Ref. 24. We also note that two particular situations have been studied very recently, that is, (i)  $\nu=1$  in Ref. 25 and (ii)  $\alpha=2$  and  $\beta=1$  in Ref. 26.

This two-parameter correlation function has a very interesting behavior depending on the values of  $\lambda$  and  $\mu$ , as can be seen in Fig. 1, where it is shown the graphics of the function  $F_{\lambda,\nu}(u) = u^{\nu-1}E_{\lambda,\nu}(-u^{\lambda})$ , that appears in the definition of the correlation function, for different values of  $\lambda$  and  $\nu$ . We note that since  $E_{\lambda,\nu}(-z) \approx z^{-1}/\Gamma(\nu-\lambda)$  for  $|z| \ge 1$ , its asymptotic behavior is



FIG. 1. The function  $F_{\lambda,\nu}(u) = u^{\nu-1} E_{\lambda,\nu}(-u^{\lambda})$  for different values of  $\lambda$  and  $\nu$ .

given by  $F_{\lambda,\nu}(u) = u^{\nu-1-\lambda}/\Gamma(\nu-\lambda)$ . Moreover, since  $0 < \alpha - \beta < 2$  (see below), all functions displayed in Fig. 1 satisfy the above condition  $0 < \lambda \le \alpha + \nu - \beta$  for some values of  $\alpha$  and  $\beta$ .

We assume that the random force F(t), which appears in a Langevin equation, obeys the fluctuation-dissipation theorem,<sup>15</sup> which is valid in the equilibrium state,

$$\langle F(t)F(\xi)\rangle = C(|t-\xi|) = k_B T \mu(|t-\xi|),$$

where  $\mu(t)$  is the fractional memory kernel of the Langevin equation,  $k_B$  is the Boltzmann constant, and T is the absolute temperature of the environment.

Using equations above we can write for the so-called two-parameter frictional memory kernel,

$$\mu(t) \equiv \frac{\mu_{\lambda}}{\tau^{\lambda}} t^{\nu-1} E_{\lambda,\nu} [-(|t|/\tau)^{\lambda}], \qquad (4)$$

where  $\mu_{\lambda} = C_{\lambda}/k_BT$ . The different notations for the memory kernel in Eqs. (2) and (4) is to call attention to the fact that in the first case the function involves one parameter while in the later it involves two parameters.

Thus, this paper deals with the dynamic of a fractional treatment of a harmonic oscillator with frequency  $\omega$  under the influence of a random force modeled as Gaussian colored noise whose corresponding FGLE, associated with the displacement, can be written as

$$\mathbf{D}_{t}^{\alpha}x(t) + \int_{0}^{t} \mu(t-\xi)\mathbf{D}_{\xi}^{\beta}x(\xi)\mathrm{d}\xi + \omega^{2}x(t) = F(t),$$
(5)

with  $1 < \alpha \le 2$ ,  $0 < \beta \le 1$ , and x(t) is the position of a particle of unitary mass at time *t*. Note that  $0 < \alpha - \beta < 2$ , as mentioned above.

The fractional derivative is to be considered in Caputo's sense,<sup>7</sup>

$$\mathbf{D}_t^{\alpha} x(t) = \frac{1}{\Gamma(n-\alpha)} \int_0^t \mathrm{d}\xi \frac{\mathbf{D}_{\xi}^n x(\xi)}{(t-\xi)^{\alpha-n+1}},$$

with  $n-1 < \alpha \le n$  and  $\mathbf{D}_{\xi}^{n} \equiv d^{n}/d\xi^{n}$  being the ordinary derivative.<sup>27</sup> We note that the case  $\alpha = 2$  and  $\beta = 1$  recovers Eq. (1).

#### **III. SOLUTION OF THE FGLE**

This section presents the solution of Eq. (5) obtained by means of the Laplace transform methodology where the solution is presented in terms of the relaxation function, the derivative of the relaxation function, and the Laplace transform of the damping kernel. We consider Eq. (5) with the initial conditions  $x(0)=x_0$  and  $\dot{x}(0)=v_0$ .

Introducing the Laplace transform in Eq. (5), we obtain a formal expression for the displacement, given by 123518-4 Figueiredo Camargo, Capelas de Oliveira, and Vaz, Jr. J. Math. Phys. 50, 123518 (2009)

$$x(t) = x_0 [1 - \omega^2 I(t)] + v_0 \mathcal{L}^{-1} [\hat{H}(s) s^{\alpha - 2}] + \int_0^t H(t - \xi) F(\xi) d\xi,$$
(6)

where the last term was obtained by means of the convolution theorem associated with the Laplace transform.

In Eq. (6) we have  $\hat{H}(s)$ , the Laplace transform of the relaxation function defined by

$$\hat{H}(s) \equiv \mathcal{L}[H(t)] = \frac{1}{s^{\alpha} + s^{\beta}\hat{\mu}(s) + \omega^2},$$

where  $\hat{\mu}(s)$  is the Laplace transform of the damping kernel,  $\hat{\mu}(s) \equiv \mathfrak{L}[\mu(t)]$ , and we have introduced the integration of the relaxation function,

$$I(t) = \int_0^t H(\xi) \mathrm{d}\xi.$$

Introducing the position mean value, defined by the relation,

$$\langle x(t)\rangle \equiv x_0 [1 - \omega^2 I(t)] + v_0 \int_0^t H(t - \xi) \frac{\xi^{1-\alpha}}{\Gamma(2-\alpha)} \mathrm{d}\xi,\tag{7}$$

where we have used the convolution theorem in the expression for  $\mathfrak{L}^{-1}$ , we can write Eq. (6) in the following formal form:

$$x(t) = \langle x(t) \rangle + \int_0^t H(t - \xi) F(\xi) \mathrm{d}\xi.$$
(8)

On the other hand, to calculate the variances associated with a physical process, for example, one must introduce the derivative of the relaxation function,  $h(t) = \dot{H}(t)$ , and its respective integration as we will see in Sec. IV.

Finally, variances can be written as<sup>8,24,25,28</sup>

$$\sigma_{xx}(t) = k_B T [2I(t) - H^2(t) - \omega^2 I^2(t)],$$
  

$$\sigma_{vv}(t) = k_B T [1 - h^2(t) - \omega^2 H^2(t)],$$
  

$$\sigma_{xv}(t) = k_B T H(t) [1 - h(t) - \omega^2 I^2(t)].$$
(9)

#### **IV. A MITTAG-LEFFLER CORRELATION FUNCTION**

Now we consider the two-parameter Mittag–Leffler correlation function. We have to calculate the Laplace transform of the memory kernel given by Eq. (4), i.e., the following integral:

$$\hat{\mu}(s) \equiv \mathfrak{L}[\mu(t)] = \mathfrak{L}\left\{\frac{\mu_{\lambda}}{\tau^{\lambda}}t^{\nu-1}E_{\lambda,\nu}[-(|t|/\tau)^{\lambda}]\right\}.$$

Using the result for  $\rho = 1$ ,

$$\mathfrak{L}[t^{\beta-1}E^{\rho}_{\alpha,\beta}(at^{\alpha})] = \frac{s^{\alpha\rho-\beta}}{(s^{\alpha}-a)^{\rho}} \Leftrightarrow \mathfrak{L}^{-1}\left[\frac{s^{\alpha\rho-\beta}}{(s^{\alpha}-a)^{\rho}}\right] = t^{\beta-1}E^{\rho}_{\alpha,\beta}(at^{\alpha}), \tag{10}$$

where  $\operatorname{Re}(s) > 0$ ,  $\operatorname{Re}(\beta) > 0$ ,  $a \in \mathbb{C}$ , and  $|as^{-\alpha}| < 1$ , we can write<sup>29</sup>

123518-5 Anomalous diffusion and Langevin equation

J. Math. Phys. 50, 123518 (2009)

$$\hat{\mu}(s) = \mu_{\lambda} \frac{s^{\lambda - \nu}}{1 + s^{\lambda} \tau^{\lambda}},\tag{11}$$

which gives the corresponding Laplace transform of the relaxation function,

$$\hat{H}(s) = \hat{H}_0(s) + \hat{H}_1(s) \tag{12}$$

with

$$\hat{H}_1(s) = \tau^{-\lambda} s^{-\lambda} \hat{H}_0(s),$$

where  $\hat{H}_0(s)$  is given by the following expression:

$$\hat{H}_{0}(s) = \frac{s^{\lambda}}{s^{\lambda+\alpha} + \frac{1}{\tau^{\lambda}}s^{\alpha} + \frac{\mu_{\lambda}}{\tau^{\lambda}}s^{\beta+\lambda-\nu} + \omega^{2}s^{\lambda} + \frac{\omega^{2}}{\tau^{\lambda}}}.$$
(13)

The inverse Laplace transform of  $\hat{H}_0(s)$  and  $\hat{H}_1(s)$  have been calculated in the appendices, and the result is given by Eq. (A9), that is,

$$H_0(t) = \sum_{k=0}^{\infty} \sum_{m=0}^{k} (-1)^k \binom{k}{m} \left( \frac{\mu_{\lambda}}{\tau^{\lambda}} \right)^k \left( \frac{\tau^{\lambda} \omega^2}{\mu_{\lambda}} \right)^m t^{\xi_0^0 - 1} E_{\lambda, \xi_0^0}^{k-m+1} \left[ -(t/\tau)^{\lambda} \right], \tag{14}$$

$$H_1(t) = \tau^{-\lambda} \sum_{k=0}^{\infty} \sum_{m=0}^{k} (-1)^k \binom{k}{m} \left(\frac{\mu_{\lambda}}{\tau^{\lambda}}\right)^k \left(\frac{\tau^{\lambda}\omega^2}{\mu_{\lambda}}\right)^m t^{\xi_1^{0-1}} E_{\lambda,\xi_1^{0}}^{k-m+1} \left[-(t/\tau)^{\lambda}\right],\tag{15}$$

where  $\xi_0^0$  and  $\xi_1^0$  are given by Eq. (A7), from which we can see that

$$\xi_1^0 = \xi_0^0 + \lambda, \tag{16}$$

with

$$\xi_0^0 = \alpha + (\alpha - \beta + \nu)k + (\beta - \nu)m.$$
(17)

Now we can calculate  $H(t) = H_0(t) + H_1(t)$ . Using Eqs. (14)–(16) we have

$$H(t) = \sum_{k=0}^{\infty} \sum_{m=0}^{k} (-1)^{k} \binom{k}{m} \binom{\mu_{\lambda}}{\tau^{\lambda}}^{k} \binom{\tau^{\lambda} \omega^{2}}{\mu_{\lambda}}^{m} t^{\xi_{0}^{0}-1} \cdot \left[ E_{\lambda,\xi_{0}^{0}}^{k-m+1} \left[ -(t/\tau)^{\lambda} \right] + (t/\tau)^{\lambda} E_{\lambda,\xi_{0}^{0}+\lambda}^{k-m+1} \left[ -(t/\tau)^{\lambda} \right] \right].$$
(18)

But the term between brackets can be calculated using Eq. (B4) in the appendices, which gives

$$H(t) = \sum_{k=0}^{\infty} \sum_{m=0}^{k} (-1)^{k} {\binom{k}{m}} {\binom{\mu_{\lambda}}{\tau^{\lambda}}}^{k} {\binom{\tau^{\lambda}\omega^{2}}{\mu_{\lambda}}}^{m} t^{\xi_{0}^{0}-1} E_{\lambda,\xi_{0}^{0}}^{k-m} [-(t/\tau)^{\lambda}].$$
(19)

Another useful expression can be written using Eq. (17) and switching the order of the sums,

$$H(t) = t^{\alpha - 1} \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} (-1)^{m+n} {m+n \choose m} (\omega^2)^n \left(\frac{\mu_\lambda}{\tau^\lambda}\right)^m t^{\Delta_{m,n}} E^m_{\lambda,\alpha + \Delta_{m,n}} [-(t/\tau)^\lambda],$$
(20)

where

 $\Delta_{m,n} = (\alpha + \nu - \beta)m + \alpha n.$ 

Expressions for I(t) and h(t) follow easily using Eqs. (B1) and (B2), which gives

123518-6 Figueiredo Camargo, Capelas de Oliveira, and Vaz, Jr.

J. Math. Phys. 50, 123518 (2009)

$$I(t) = t^{\alpha} \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} (-1)^{m+n} {m+n \choose m} (\omega^2)^n \left(\frac{\mu_{\lambda}}{\tau^{\lambda}}\right)^m t^{\Delta_{m,n}} E^m_{\lambda,\alpha+\Delta_{m,n}+1} [-(t/\tau)^{\lambda}],$$
(21)

$$h(t) = t^{\alpha - 2} \sum_{m=0}^{\infty} \sum_{n=0}^{\infty} (-1)^{m+n} {m+n \choose m} (\omega^2)^n \left(\frac{\mu_\lambda}{\tau^\lambda}\right)^m t^{\Delta_{m,n}} E^m_{\lambda,\alpha+\Delta_{m,n}-1} \left[-(t/\tau)^\lambda\right].$$
(22)

## V. TEMPORAL BEHAVIOR OF THE RELAXATION FUNCTIONS

In this section we study the short-time and the asymptotic behavior of the relaxation functions H(t), I(t), and h(t).

For the short-time behavior, we use

$$E^{\rho}_{\alpha,\beta}(-z) \approx \frac{1}{\Gamma(\beta)} - \frac{\rho z}{\Gamma(\alpha+\beta)} + \cdots \quad (|z| \ll 1),$$

and from Eqs. (20)–(22) we obtain for  $t \ll 1$  that

$$I(t) \approx t^{\alpha} \left[ \frac{1}{\Gamma(\alpha+1)} - \frac{\omega^2 t^{\alpha}}{\Gamma(2\alpha+1)} - \frac{\mu_{\lambda} t^{(\alpha+\nu-\beta)}}{\tau^{\lambda} \Gamma(\alpha+(\alpha+\nu-\beta)+1)} + \cdots \right],$$
(23)

$$H(t) \approx t^{\alpha - 1} \left[ \frac{1}{\Gamma(\alpha)} - \frac{\omega^2 t^{\alpha}}{\Gamma(2\alpha)} - \frac{\mu_{\lambda} t^{(\alpha + \nu - \beta)}}{\tau^{\lambda} \Gamma(\alpha + (\alpha + \nu - \beta))} + \cdots \right],$$
(24)

$$h(t) \approx t^{\alpha-2} \left[ \frac{1}{\Gamma(\alpha-1)} - \frac{\omega^2 t^{\alpha}}{\Gamma(2\alpha-1)} - \frac{\mu_{\lambda} t^{(\alpha+\nu-\beta)}}{\tau^{\lambda} \Gamma(\alpha+(\alpha+\nu-\beta)-1)} + \cdots \right].$$
(25)

Since  $(\alpha + \nu - \beta) > 0$ , the first terms on the right hand side of the above expressions are indeed the zeroth-order approximation in the short-time regime for the given functions. However, the next term in the approximation depends on the value of  $\nu - \beta$ . Since  $\nu > 0$  and  $0 < \beta \le 1$ , the quantity  $\nu - \beta$  can be positive, negative, or zero. If  $\nu - \beta$  is positive, then the term in  $t^{(\alpha+\nu-\beta)}$  is a secondorder term, but if it is negative or zero, it is a first-order term.

Now we turn to the asymptotic expressions of I(t), H(t), and h(t). In this case we use Eq. (B5),<sup>30</sup>

$$E^{\rho}_{\alpha,\beta}(-z) \approx \frac{z^{-\rho}}{\Gamma(\beta - \alpha\rho)} - \frac{\rho z^{-(\rho+1)}}{\Gamma(\beta - \alpha(\rho+1))} + \cdots \quad (|z| \ge 1).$$

Using it in Eq. (21) we obtain for  $t \ge \tau$  that

$$I(t) \approx t^{\alpha} \sum_{m=0}^{\infty} (-1)^{m} (\mu_{\lambda})^{m} \bigg( t^{(\alpha-\lambda+\nu-\beta)m} \bigg[ E^{m+1}_{\alpha,(\alpha-\lambda+\nu-\beta)m+\alpha+1}(-\omega^{2}t^{\alpha}) - m\bigg(\frac{t}{\tau}\bigg)^{-\lambda} E^{m+1}_{\alpha,(\alpha-\lambda+\nu-\beta)m+\alpha+1-\lambda}(-\omega^{2}t^{\alpha}) + \cdots \bigg] \bigg),$$
(26)

where  $\alpha - \lambda + \nu - \beta \ge 0$ , and using the asymptotic expansion again, for  $t \ge 1$ ,

$$I(t) \approx \frac{1}{\omega^2} \sum_{m=0}^{\infty} \frac{(-\mu_\lambda \omega^{-2} t^{\nu-\beta-\lambda})^m}{\Gamma[(\nu-\beta-\lambda)m+1]} - \frac{t^{-\alpha}}{\omega^4} \sum_{m=0}^{\infty} \frac{(m+1)(-\mu_\lambda \omega^{-2} t^{\nu-\beta-\lambda})^m}{\Gamma[(\nu-\beta-\lambda)m+1-\alpha]} + \frac{\mu_\lambda t^{\nu-\beta-\lambda}}{\omega^4} \left(\frac{t}{\tau}\right)^{-\lambda} \sum_{m=0}^{\infty} \frac{(m+1)(-\mu_\lambda \omega^{-2} t^{\nu-\beta-\lambda})^m}{\Gamma[(\nu-\beta-\lambda)(m+1)+1-\lambda]} + \cdots$$
(27)

#### 123518-7 Anomalous diffusion and Langevin equation

J. Math. Phys. 50, 123518 (2009)

In the same way, we obtain for H(t) for  $t \ge 1$  that

$$H(t) \approx \frac{t^{-1}}{\omega^2} \sum_{m=1}^{\infty} \frac{(-\mu_\lambda \omega^{-2} t^{\nu-\beta-\lambda})^m}{\Gamma[(\nu-\beta-\lambda)m]} - \frac{t^{-\alpha-1}}{\omega^4} \sum_{m=0}^{\infty} \frac{(m+1)(-\mu_\lambda \omega^{-2} t^{\nu-\beta-\lambda})^m}{\Gamma[(\nu-\beta-\lambda)m-\alpha]} + \frac{\mu_\lambda t^{\nu-\beta-\lambda-1}}{\omega^4} \left(\frac{t}{\tau}\right)^{-\lambda} \sum_{m=0}^{\infty} \frac{(m+1)(-\mu_\lambda \omega^{-2} t^{\nu-\beta-\lambda})^m}{\Gamma[(\nu-\beta-\lambda)(m+1)-\lambda]} + \cdots,$$
(28)

and for h(t),

$$h(t) \approx \frac{t^{-2}}{\omega^2} \sum_{m=1}^{\infty} \frac{(-\mu_\lambda \omega^{-2} t^{\nu-\beta-\lambda})^m}{\Gamma[(\nu-\beta-\lambda)m-1]} - \frac{t^{-\alpha-2}}{\omega^4} \sum_{m=0}^{\infty} \frac{(m+1)(-\mu_\lambda \omega^{-2} t^{\nu-\beta-\lambda})^m}{\Gamma[(\nu-\beta-\lambda)m-\alpha-1]} + \frac{\mu_\lambda t^{\nu-\beta-\lambda-2}}{\omega^4} \left(\frac{t}{\tau}\right)^{-\lambda} \sum_{m=0}^{\infty} \frac{(m+1)(-\mu_\lambda \omega^{-2} t^{\nu-\beta-\lambda})^m}{\Gamma[(\nu-\beta-\lambda)(m+1)-\lambda-1]} + \cdots$$
(29)

At this point we must distinguish three cases.

(i)  $\lambda + \beta - \nu > 0$ . In this case  $t^{\nu-\beta-\lambda} \ll 1$  for  $t \gg 1$  and the asymptotic expressions for the relaxation functions become

$$I(t) \approx \frac{1}{\omega^2} - \frac{\mu_{\lambda}}{\omega^4} \frac{\sin \pi(\lambda + \beta - \nu)}{\pi} \frac{\Gamma(\lambda + \beta - \nu)}{t^{\lambda + \beta - \nu}} - \frac{1}{\omega^4} \frac{\sin \pi \alpha}{\pi} \frac{\Gamma(\alpha)}{t^{\alpha}} + \cdots,$$
(30)

$$H(t) \approx \frac{\mu_{\lambda}}{\omega^4} \frac{\sin \pi(\lambda + \beta - \nu)}{\pi} \frac{\Gamma(\lambda + \beta - \nu + 1)}{t^{\lambda + \beta - \nu + 1}} + \frac{1}{\omega^4} \frac{\sin \pi \alpha}{\pi} \frac{\Gamma(\alpha + 1)}{t^{\alpha + 1}} + \cdots,$$
(31)

$$h(t) \approx -\frac{\mu_{\lambda}}{\omega^{4}} \frac{\sin \pi(\lambda + \beta - \nu)}{\pi} \frac{\Gamma(\lambda + \beta - \nu + 2)}{t^{\lambda + \beta - \nu + 2}} - \frac{1}{\omega^{4}} \frac{\sin \pi \alpha}{\pi} \frac{\Gamma(\alpha + 2)}{t^{\alpha + 2}} + \cdots .$$
(32)

We note, from Eqs. (7) and (9), that in the limit  $t \to \infty$  we have  $\langle x(\infty) \rangle = 0$  and  $\sigma_{xx}(\infty) = k_B T / \omega^2$ .

(ii)  $\lambda + \beta - \nu = 0$ . When this condition is satisfied we can calculate the sums in Eqs. (27)–(29) and obtain that

$$I(t) \approx \frac{1}{\omega^2 + \mu_{\lambda}} - \frac{1}{(\omega^2 + \mu_{\lambda})^2} \frac{\sin \pi \alpha}{\pi} \frac{\Gamma(\alpha)}{t^{\alpha}} + \frac{\mu_{\lambda} \tau^{\lambda}}{(\omega^2 + \mu_{\lambda})^2} \frac{\sin \pi \lambda}{\pi} \frac{\Gamma(\lambda)}{t^{\lambda}} + \cdots,$$
(33)

$$H(t) \approx \frac{1}{(\omega^2 + \mu_{\lambda})^2} \frac{\sin \pi \alpha}{\pi} \frac{\Gamma(\alpha + 1)}{t^{\alpha + 1}} - \frac{\mu_{\lambda} \tau^{\lambda}}{(\omega^2 + \mu_{\lambda})^2} \frac{\sin \pi \lambda}{\pi} \frac{\Gamma(\lambda + 1)}{t^{\lambda + 1}} + \cdots,$$
(34)

$$h(t) \approx -\frac{1}{(\omega^2 + \mu_{\lambda})^2} \frac{\sin \pi \alpha}{\pi} \frac{\Gamma(\alpha + 2)}{t^{\alpha + 2}} + \frac{\mu_{\lambda} \tau^{\lambda}}{(\omega^2 + \mu_{\lambda})^2} \frac{\sin \pi \lambda}{\pi} \frac{\Gamma(\lambda + 2)}{t^{\lambda + 2}} + \cdots .$$
(35)

In this case, the limit  $t \to \infty$  gives  $\langle x(\infty) \rangle = x_0 \mu_{\lambda} / (\omega^2 + \mu_{\lambda})$  and  $\sigma_{xx}(\infty) = k_B T / \Omega^2$ , where  $\Omega = (\omega^2 + \mu_{\lambda}) / \sqrt{\omega^2 + 2\mu_{\lambda}}$ .

(iii)  $\lambda + \beta - \nu < 0$ . In this case the first sum on the right hand side of Eq. (27) can be identified with  $E_{\nu-\beta-\lambda,1}(-z)$  for  $z = \mu_{\lambda}\omega^{-2}t^{\nu-\beta-\lambda}$ . There is, however, a problem with identifying the second and third sums with  $E^2_{\nu-\beta-\lambda,1-\alpha}(-z)$  and  $E^2_{\nu-\beta-\lambda,1-\lambda}(-z)$ , respectively. The problem is that  $1 - \alpha < 0$  and  $1 - \alpha - \lambda < 0$ . However, when it comes to considering the asymptotic behavior, those functions behave like Mittag–Leffler functions. In fact, let us write

#### 123518-8 Figueiredo Camargo, Capelas de Oliveira, and Vaz, Jr.

J. Math. Phys. 50, 123518 (2009)

$$\sum_{m=0}^{\infty} \frac{(m+1)(-z)^m}{\Gamma(am-b)} = \sum_{m=0}^{N-1} \frac{(m+1)(-z)^m}{\Gamma(am-b)} + (-z)^N [E_{a,Na-b}^2(-z) + NE_{a,Na-b}(-z)],$$

where N is the smallest integer such that Na-b > 0. Then, if we use Eq. (B5) for  $E_{a,Na-b}^2(-z)$  and  $E_{a,Na-b}(-z)$ , we obtain, after some cancellations,

$$\sum_{m=0}^{\infty} \frac{(m+1)(-z)^m}{\Gamma(am-b)} = \sum_{k=0}^{\infty} (-1)^k k \frac{(-z)^{-(k+2)}}{\Gamma[-b-a(k+2)]}, \quad |z| > 1,$$

which is exactly the asymptotic expansion given by Eq. (B5) for  $E_{a,-b}^2(-z)$ .

Now, with these observations in mind, we obtain in this case

$$I(t) \approx \frac{1}{\mu_{\lambda}} \frac{\sin \pi (\nu - \beta - \lambda)}{\pi} \frac{\Gamma(\nu - \beta - \lambda)}{t^{\nu - \beta - \lambda}} + \cdots,$$
(36)

$$H(t) \approx -\frac{1}{\mu_{\lambda}} \frac{\sin \pi(\nu - \beta - \lambda)}{\pi} \frac{\Gamma(\nu - \beta - \lambda + 1)}{t^{\nu - \beta - \lambda + 1}} + \cdots,$$
(37)

$$h(t) \approx \frac{1}{\mu_{\lambda}} \frac{\sin \pi(\nu - \beta - \lambda)}{\pi} \frac{\Gamma(\nu - \beta - \lambda + 2)}{t^{\nu - \beta - \lambda + 2}} + \cdots .$$
(38)

The limit  $t \to \infty$  gives in this case  $\langle x(\infty) \rangle = x_0$  and  $\sigma_{xx}(\infty) = 0$ .

It is interesting to note that when  $\beta = 1$  this case corresponds to  $\nu - \lambda > 1$  and then the asymptotic behavior of the frictional memory kernel  $\mu(t) \approx (\mu_{\lambda} / \Gamma(\nu - \lambda))t^{\lambda - \nu - 1}$  shows that it diverges when  $t \to \infty$ .

#### **VI. PARTICULAR CASES**

There is one very interesting case of the relaxation function. We can easily see in Eqs. (20)–(22) that the parameters  $\nu$  and  $\beta$  appear in those equations in the form of the combination  $\nu - \beta$ . Therefore, when  $\nu = \beta$ , the relaxation functions do **not** depend on the order of the fractional derivative,  $\beta$ , or on the second parameter of the two-parameter Mittag–Leffler function  $\nu$ . In this case, for the relaxation functions we have  $\Delta_{m,n} = \alpha(m+n)$  in Eqs. (20)–(22).

The short-time regime of the relaxation functions in this case are

$$I(t) \approx \frac{t^{\alpha}}{\Gamma(\alpha+1)} - \frac{(\omega^2 + \mu_{\lambda}/\tau^{\lambda})t^{2\alpha}}{\Gamma(2\alpha+1)} \cdots,$$
(39)

$$H(t) \approx \frac{t^{\alpha-1}}{\Gamma(\alpha)} - \frac{(\omega^2 + \mu_{\lambda}/\tau^{\lambda})t^{2\alpha-1}}{\Gamma(2\alpha)} + \cdots,$$
(40)

$$h(t) \approx \frac{t^{\alpha-2}}{\Gamma(\alpha-1)} - \frac{(\omega^2 + \mu_{\lambda}/\tau^{\lambda})t^{2\alpha-2}}{\Gamma(2\alpha-1)} + \cdots .$$
(41)

For the asymptotic expansion, we note that since  $\lambda > 0$ , the case  $\nu = \beta$  must be a particular case of the situation where  $\lambda + \beta - \nu > 0$ . Then we have

$$I(t) \approx \frac{1}{\omega^2} - \frac{\mu_\lambda}{\omega^4} \frac{\sin \pi \lambda}{\pi} \frac{\Gamma(\lambda)}{t^\lambda} - \frac{1}{\omega^4} \frac{\sin \pi \alpha}{\pi} \frac{\Gamma(\alpha)}{t^\alpha} + \cdots, \qquad (42)$$

123518-9 Anomalous diffusion and Langevin equation

J. Math. Phys. 50, 123518 (2009)

$$H(t) \approx \frac{\mu_{\lambda}}{\omega^4} \frac{\sin \pi \lambda}{\pi} \frac{\Gamma(\lambda+1)}{t^{\lambda+1}} + \frac{1}{\omega^4} \frac{\sin \pi \alpha}{\pi} \frac{\Gamma(\alpha+1)}{t^{\alpha+1}} + \cdots,$$
(43)

$$h(t) \approx -\frac{\mu_{\lambda}}{\omega^{4}} \frac{\sin \pi \lambda}{\pi} \frac{\Gamma(\lambda+2)}{t^{\lambda+2}} - \frac{1}{\omega^{4}} \frac{\sin \pi \alpha}{\pi} \frac{\Gamma(\alpha+2)}{t^{\alpha+2}} + \cdots .$$
(44)

Moreover, we note that when  $\alpha = 2$  the above expressions reduce to those ones obtained by Viñales *et al.*<sup>24</sup> We must observe, however, that in Ref. 24 the authors considered  $\nu = \beta = 1$ .

Another interesting case is the limit  $\tau \rightarrow 0$ . In this case the correlation function given by Eq. (3) corresponds to the power law,

$$C_0(t) = C_\lambda \frac{t^{\nu-\lambda-1}}{\Gamma(\nu-\lambda)}, \quad (\tau \to 0),$$

and the expression for the relaxation functions,

$$I(t) = t^{\alpha} \sum_{n=0}^{\infty} \left( -\omega^2 t^{\alpha} \right)^n E_{\alpha-\lambda+\nu-\beta,\alpha(n+1)+1}^{n+1} \left[ -\mu_{\lambda} t^{(\alpha-\lambda+\nu-\beta)} \right], \tag{45}$$

$$H(t) = t^{\alpha - 1} \sum_{n=0}^{\infty} \left( -\omega^2 t^{\alpha} \right)^n E_{\alpha - \lambda + \nu - \beta, \alpha(n+1)}^{n+1} \left[ -\mu_{\lambda} t^{(\alpha - \lambda + \nu - \beta)} \right], \tag{46}$$

$$h(t) = t^{\alpha - 2} \sum_{n=0}^{\infty} \left( -\omega^2 t^{\alpha} \right)^n E_{\alpha - \lambda + \nu - \beta, \alpha(n+1) - 1}^{n+1} \left[ -\mu_{\lambda} t^{(\alpha - \lambda + \nu - \beta)} \right].$$
(47)

These expressions generalize the ones given in Ref. 15.

Finally, let us consider  $\omega \rightarrow 0$ . In this limit we recover the results from Ref. 25,

$$I(t) = t^{\alpha} \sum_{m=0}^{\infty} \left( -\frac{\mu_{\lambda}}{\tau^{\lambda}} t^{\alpha+\nu-\beta} \right)^m E^m_{\lambda,\alpha+(\alpha+\nu-\beta)+1} \left[ -(t/\tau)^{\lambda} \right], \tag{48}$$

$$H(t) = t^{\alpha - 1} \sum_{m=0}^{\infty} \left( -\frac{\mu_{\lambda}}{\tau^{\lambda}} t^{\alpha + \nu - \beta} \right)^m E^m_{\lambda, \alpha + (\alpha + \nu - \beta)m} [-(t/\tau)^{\lambda}], \tag{49}$$

$$h(t) = t^{\alpha - 2} \sum_{m=0}^{\infty} \left( -\frac{\mu_{\lambda}}{\tau^{\lambda}} t^{\alpha + \nu - \beta} \right)^m E^m_{\lambda, \alpha + (\alpha + \nu - \beta)m - 1} \left[ -(t/\tau)^{\lambda} \right], \tag{50}$$

and when  $\omega \rightarrow 0$  and  $\tau \rightarrow 0$  we generalize the results in Refs. 15 and 31–33,

$$I(t) = t^{\alpha} E_{\alpha - \lambda + \nu - \beta, \alpha + 1} \left[ -\mu_{\lambda} t^{(\alpha - \lambda + \nu - \beta)} \right], \tag{51}$$

$$H(t) = t^{\alpha - 1} E_{\alpha - \lambda + \nu - \beta, \alpha} [-\mu_{\lambda} t^{(\alpha - \lambda + \nu - \beta)}], \qquad (52)$$

$$h(t) = t^{\alpha - 2} E_{\alpha - \lambda + \nu - \beta, \alpha - 1} [-\mu_{\lambda} t^{(\alpha - \lambda + \nu - \beta)}].$$
(53)

123518-10 Figueiredo Camargo, Capelas de Oliveira, and Vaz, Jr.

### **VII. CONCLUDING REMARKS**

We conclude that Eqs. (20)–(22), our main results, determine the temporal evolution of the mean values (displacement and velocity) and the variances. We also note that in the limit  $\omega \rightarrow 0$ , our results recover the fractional free particle case<sup>25</sup> and for the integer case, i.e., integer derivatives, the results recover also a recent result obtained by Viñales *et al.*<sup>24</sup>

#### **ACKNOWLEDGMENTS**

E.C.O. is grateful to FAEPEX (Grant No. 005/2009) for a research grant. The authors are grateful to an anonymous referee for the very helpful suggestions.

#### APPENDIX A: CALCULATION OF RELAXATION FUNCTIONS

In Sec. IV, we have introduced a particular memory kernel given in terms of the twoparameter Mittag–Leffler function. To calculate the variances we need to know which is the corresponding relaxation function, for example. Here we show the calculation of the inverse Laplace transform associated with the functions  $\hat{H}_0(s)$  and  $\hat{H}_1(s)$  as given by Eq. (12).

Then, in general, we calculate the following inverse Laplace transform:

$$H_i(t) \equiv \mathcal{L}^{-1}[\hat{H}_i(s)] = \mathcal{L}^{-1}\left[\frac{s^{\sigma_i}}{s^{\alpha} + as^{\beta} + bs^{\gamma} + cs^{\mu} + d}\right],$$

with the restriction  $\alpha > \beta > \gamma > \mu$ , and *i* can take the values 0 and 1, such that  $\sigma_0 = \lambda$  and  $\sigma_1 = 0$ . In our particular case the real parameters are as below

Exponents	Coefficients
$\alpha \rightarrow \lambda + \alpha$	$a \rightarrow 1/\tau^{\lambda}$
$\beta \!  ightarrow \! lpha$	$b\! ightarrow\!\mu_\lambda^{}/ au^{\!\lambda}$
$\gamma \rightarrow \beta + \lambda - \nu$	$c \rightarrow \omega^2$
$\mu { ightarrow} \lambda$	$d{ ightarrow}\omega^2/ au^\lambda$

We also note that, in the case  $\omega^2 = 0$  (frequency zero), i.e., the fractional free case is recovered<sup>25</sup> and the integer case  $\alpha = 2$  and  $\beta = 1 = \nu$ , discussed by Vinãles *et al.*<sup>24</sup> is also recovered.

Using the geometric series we can write

$$\frac{s^{\sigma_i}}{s^{\alpha} + as^{\beta} + bs^{\gamma} + cs^{\mu} + d} = \sum_{k=0}^{\infty} (-1)^k s^{\sigma_i - \beta - \beta k} \frac{(d + cs^{\mu} + bs^{\gamma})^k}{(s^{\alpha - \beta} + a)^{k+1}},$$

with  $a \neq 0$  and  $|(d+cs^{\mu}+bs^{\gamma})/(s^{\alpha-\beta}+a)| < 1$ .

The binomial series allow us to write, in a convenient way, the above equation as follows:

$$\frac{s^{\sigma_i}}{s^{\alpha} + as^{\beta} + bs^{\gamma} + cs^{\mu} + d} = \sum_{k=0}^{\infty} (-1)^k b^k k! \sum_{\ell=0}^k \frac{(d/b)^{\ell}}{\ell!} \sum_{j=0}^{k-\ell} \frac{(c/b)^j}{j! (k-\ell-j)!} \Lambda_{\sigma_i},$$

where

$$\Lambda_{\sigma_i} \equiv \Lambda_{\sigma_i}(k,\ell,j;\alpha,\beta,\gamma,\mu) = \frac{s^{\sigma_i - \beta(k+1) + \mu j + \gamma(k-\ell-j)}}{(s^{\alpha-\beta} + a)^{k+1}}.$$

Next we apply the inverse Laplace transform in both sides of the last equation,

123518-11 Anomalous diffusion and Langevin equation

J. Math. Phys. 50, 123518 (2009)

$$\mathcal{L}^{-1}\left[\frac{s^{\sigma_{i}}}{s^{\alpha} + as^{\beta} + bs^{\gamma} + cs^{\mu} + d}\right] = \sum_{k=0}^{\infty} (-1)^{k} b^{k} k! \sum_{\ell=0}^{k} \frac{(d/b)^{\ell}}{\ell!} \sum_{j=0}^{k-\ell} \frac{(c/b)^{j}}{j! (k-\ell-j)!} \\ \cdot \mathcal{L}^{-1}\left[\frac{s^{\sigma_{i} - \beta(k+1) + \mu j + \gamma(k-\ell-j)}}{(s^{\alpha - \beta} + a)^{k+1}}\right].$$

To calculate the inverse Laplace transform in the second member, we use Eq. (10) and we get

$$\mathfrak{L}^{-1}\left[\frac{s^{\sigma_{i}}}{s^{\alpha}+as^{\beta}+bs^{\gamma}+cs^{\mu}+d}\right] = \sum_{k=0}^{\infty} (-1)^{k} b^{k} k! \sum_{\ell=0}^{k} \frac{(d/b)^{\ell}}{\ell!} \sum_{j=0}^{k-\ell} \frac{(c/b)^{j}}{j! (k-\ell-j)!} \cdot t^{\xi_{i}-1} E_{\alpha-\beta,\xi_{i}}^{k+1} (-at^{\alpha-\beta}),$$

where  $\xi_i = -\sigma_i + \alpha + (\alpha - \gamma)k + \gamma \ell - (\mu - \gamma)j$  with i = 0, 1 and  $E^{\rho}_{\mu,\nu}(\cdot)$  is the three-parameter Mittag-Leffler function.

Using the notation introduced in Eq. (12), we have

$$H_{i}(t) = (\tau^{-\lambda})^{i} \mathfrak{L}^{-1} \left[ \frac{s^{\sigma_{i}}}{s^{\lambda+\alpha} + \frac{1}{\tau^{\lambda}} s^{\alpha} + \frac{\mu_{\lambda}}{\tau^{\lambda}} s^{\beta+\lambda-\nu} + \omega^{2} s^{\lambda} + \frac{\omega^{2}}{\tau^{\lambda}}} \right]$$
$$= \sum_{k=0}^{\infty} (-1)^{k} k ! \left( \frac{\mu_{\lambda}}{\tau^{\lambda}} \right)^{k} \sum_{\ell=0}^{k} \frac{(\omega^{2}/\mu_{\lambda})^{\ell}}{\ell!} \sum_{j=0}^{k-\ell} \frac{(\omega^{2}\tau^{\lambda}/\mu_{\lambda})^{j}}{j! (k-\ell-j)!} t^{\xi_{i}-1} E_{\lambda,\xi_{i}}^{k+1} [-(t/\tau)^{\lambda}], \qquad (A1)$$

where  $\xi_i = -\sigma_i + \lambda + \alpha + (\alpha - \beta + \nu)k + (\beta + \lambda - \nu)\ell + (\beta - \nu)j$  and i = 0, 1.

To simplify we introduce a function time independent defined by the following expression:

$$\mathbf{C}(k,\ell,j) \equiv (-1)^k k ! \left(\frac{\mu_\lambda}{\tau^\lambda}\right)^k \frac{(\omega^2/\mu_\lambda)^\ell}{\ell!} \frac{(\omega^2\tau^\lambda/\mu_\lambda)^j}{j!(k-\ell-j)!},\tag{A2}$$

and then Eq. (A1) can be written as

$$H_{i}(t) = (\tau^{-\lambda})^{i} \sum_{k=0}^{\infty} \sum_{\ell=0}^{k} \sum_{j=0}^{k-\ell} \mathbf{C}(k,\ell,j) t^{\xi_{i}-1} E_{\lambda,\xi_{i}}^{k+1} [-(t/\tau)^{\lambda}],$$
(A3)

where  $\xi_i = -\sigma_i + \lambda + \alpha + (\alpha - \beta + \nu)k + (\beta + \lambda - \nu)\ell + (\beta - \nu)j$  with i = 0, 1 and  $\sigma_i = \lambda \delta_{i,0}$ .

If we switch the order of the two last sums and define  $m=j+\ell$ , the above expression can be written as

$$H_{i}(t) = (\tau^{-\lambda})^{i} \sum_{k=0}^{\infty} \sum_{m=0}^{k} \sum_{j=0}^{m} \mathbf{C}'(k,m,j) t^{\xi_{i}-1} E_{\lambda,\xi_{i}}^{k+1} [-(t/\tau)^{\lambda}],$$
(A4)

where

$$\mathbf{C}'(k,m,j) \equiv \frac{(-1)^k k ! \left(\frac{\mu_\lambda}{\tau^\lambda}\right)^k (\tau^\lambda \omega^2 / \mu_\lambda)^m (\tau^\lambda)^{-j}}{j ! (m-j) ! (k-m)!}.$$
(A5)

Now, let us write

$$\xi_i = \xi_i^0 + \lambda j, \tag{A6}$$

where

$$\xi_i^0 = -\lambda \delta_{i,0} + \lambda + \alpha + (\alpha - \beta + \nu)k + (\beta - \nu)m.$$
(A7)

Using this we can write

123518-12 Figueiredo Camargo, Capelas de Oliveira, and Vaz, Jr.

J. Math. Phys. 50, 123518 (2009)

$$H_{i}(t) = (\tau^{-\lambda})^{i} \sum_{k=0}^{\infty} \sum_{m=0}^{k} \frac{(-1)^{k} k!}{(k-m)!} \left(\frac{\mu_{\lambda}}{\tau^{\lambda}}\right)^{k} \left(\frac{\tau^{\lambda} \omega^{2}}{\mu_{\lambda}}\right)^{m} t^{\xi_{i}^{0}-1} \cdot \left[\sum_{j=0}^{m} \frac{1}{j! (m-j)!} ((t/\tau)^{\lambda})^{j} E_{\lambda,\xi_{i}^{0}+\lambda j}^{k+1} [-(t/\tau)^{\lambda}]\right].$$
(A8)

The sum between brackets is the one given by Eq. (B3), and then

$$H_{i}(t) = (\tau^{-\lambda})^{i} \sum_{k=0}^{\infty} \sum_{m=0}^{k} (-1)^{k} {\binom{k}{m}} {\binom{\mu_{\lambda}}{\tau^{\lambda}}}^{k} {\binom{\tau^{\lambda}\omega^{2}}{\mu_{\lambda}}}^{m} t^{\xi_{i}^{0}-1} E_{\lambda,\xi_{i}^{0}}^{k-m+1} [-(t/\tau)^{\lambda}].$$
(A9)

## APPENDIX B: THREE-PARAMETER MITTAG-LEFFLER FUNCTION

Our objective in this appendix is to prove some results that we have used. Let  $E^{\rho}_{\alpha,\beta}(z)$  be the three-parameter Mittag–Leffler function defined by the series representation,

$$E^{\rho}_{\alpha,\beta}(z) = \sum_{k=0}^{\infty} \frac{(\rho)_k}{\Gamma(\alpha k + \beta)} \frac{z^k}{k!},$$

with  $z \in \mathbb{C}$ ,  $\operatorname{Re}(\alpha) > 0$ ,  $\operatorname{Re}(\beta) > 0$ ,  $\operatorname{Re}(\rho) > 0$ , and  $(\cdot)_k$  is the Pochhammer symbol. Then the following holds:

$$\frac{\mathrm{d}}{\mathrm{d}t} \{ t^{\xi-1} E_{\lambda,\xi}^{k+1} [-(t/\tau)^{\lambda}] \} = t^{\xi-2} E_{\lambda,\xi-1}^{k+1} [-(t/\tau)^{\lambda}], \tag{B1}$$

$$\int_{0}^{t} x^{\xi-1} E_{\lambda,\xi}^{k+1} [-(x/\tau)^{\lambda}] \mathrm{d}x = t^{\xi} E_{\lambda,\xi+1}^{k+1} [-(t/\tau)^{\lambda}], \tag{B2}$$

$$\sum_{j=0}^{m} \frac{z^{j}}{j!(m-j)!} E^{\rho}_{\lambda,\lambda j+\beta}(-z) = \frac{1}{m!} E^{\rho-m}_{\lambda,\beta}(-z),$$
(B3)

$$E^{\rho}_{\alpha,\beta}(z) - E^{\rho-1}_{\alpha,\beta}(z) = z E^{\rho}_{\alpha,\beta+\alpha}(z), \qquad (B4)$$

$$E^{\rho}_{\alpha,\beta}(-z) = \sum_{k=0}^{\infty} (-1)^k \frac{(\rho)_k}{\Gamma[\beta - \alpha(k+\rho)]} \frac{z^{-(k+\gamma)}}{k!}, \quad |z| > 1.$$
(B5)

*Proof:* Equations (B1) and (B2) follow immediately from the series representation of  $E^{\rho}_{\alpha,\beta}(z)$ . In order to prove Eq. (B3), we start using the series representation of  $E^{\rho}_{\alpha,\beta}(z)$  on left hand side, which will be denoted by  $\Lambda$ ,

$$\Lambda = \sum_{j=0}^{m} \sum_{k=0}^{\infty} \frac{z^j}{j! (m-j)!} \frac{(\rho)_k}{\Gamma(\lambda k + \lambda j + \beta)} \frac{(-z)^k}{k!}.$$

Denoting k+j=i and switching the order of the sums we have that

$$\Lambda = \sum_{i=0}^{\infty} \sum_{j=0}^{m} \frac{(-z)^{i}}{\Gamma(\lambda i + \beta)} \frac{(-1)^{j}}{j! (m-j)!} \frac{(\rho)_{i-j}}{(i-j)!},$$

where we have used the fact that (i-j)!=0 for j=i+1,i+2,... But

123518-13 Anomalous diffusion and Langevin equation

$$\frac{(\rho)_{i-j}}{(i-j)!} = \binom{i-j+\rho-1}{i-j} = \binom{i-j+\rho-1}{\rho-1},$$

and using the identity

$$\sum_{j=0}^{m} (-1)^{j} \binom{m}{j} \binom{a-j}{b} = \binom{a-m}{b-m},$$

we have that

$$\Lambda = \frac{1}{m!} \sum_{i=0}^{\infty} \frac{(-z)^i}{\Gamma(\lambda i + \beta)} \binom{i+\rho-1-m}{\rho-1+m} = \frac{1}{m!} \sum_{i=0}^{\infty} \frac{(\rho-m)_i}{\Gamma(\lambda i + \beta)} \frac{(-z)^i}{i!},$$

which gives the right hand side of Eq. (B3).

Equation (B4) can be proven starting from the expression on its left hand side and using

$$(\rho)_k - (\rho - 1)_k = k(\rho)_{k-1},$$

which gives the result after the identification of the resulting series. We must observe that in principle this result holds only for  $\text{Re}(\rho-1)>0$ ; however, if we define

$$E^{0}_{\alpha,\beta}(z) = \frac{1}{\Gamma(\beta)},\tag{B6}$$

then we can consider that Eq. (B4) holds for  $\text{Re}(\rho) \ge 1$ , which is the case considered in the text. Finally, the proof of Eq. (B5) can be found in the appendix of Ref. 30.

- <sup>1</sup>J. D. Bao and Y. Z. Zhuo, Phys. Rev. C 67, 064606 (2003).
- <sup>2</sup>K. K. Manne, A. J. Hurd, and V. M. Kenkre, Phys. Rev. E 61, 4177 (2000).
- <sup>3</sup>A. M. Mathai, R. K. Saxena, and H. J. Haubold, Astrophys. Space Sci. 305, 283 (2006).
- <sup>4</sup>S. Chaudhury and B. J. Cherayil, J. Chem. Phys. **125**, 024904 (2006).
- <sup>5</sup>S. C. Kou and X. S. Xie, Phys. Rev. Lett. **93**, 180603 (2004).
- <sup>6</sup>W. Min, L. Guo, B. J. Cherayil, S. C. Kou, and X. S. Xie, Phys. Rev. Lett. 94, 198302 (2005).
- <sup>7</sup>F. Mainardi and R. Gorenflo, J. Comput. Appl. Math. 118, 283 (2000).
- <sup>8</sup>R. Metzler and J. Klafter, Phys. Rep. **339**, 1 (2000).
- <sup>9</sup>R. Metzler and J. Klafter, J. Phys. A 37, R161 (2004).
- <sup>10</sup>B. Yilmaz, S. Ayik, Y. Abe, and D. Boilley, Phys. Rev. E 77, 011121 (2008).
- <sup>11</sup>S. Chaudhury, S. C. Kou, and B. J. Cherayil, J. Chem. Phys. **129**, 075104 (2008).
- <sup>12</sup>S. Chaudhury, S. C. Kou, and B. J. Cherayil, J. Phys. Chem. B 111, 2377 (2007).
- <sup>13</sup>K. S. Fa, Phys. Rev. E **73**, 061104 (2006).
- <sup>14</sup>K. S. Fa, Eur. Phys. J. B 65, 265 (2008).
- <sup>15</sup>A. D. Viñales and M. A. Despósito, Phys. Rev. E 73, 016111 (2006).
- <sup>16</sup> A. D. Viñales and M. A. Despósito, Phys. Rev. E 75, 042102 (2007).
- <sup>17</sup> M. A. Despósito and A. D. Viñales, Phys. Rev. E 77, 031123 (2008).
- <sup>18</sup>P. Dieterich, R. Klages, R. Preuss, and A. Schwab, Proc. Natl. Acad. Sci. U.S.A. 105, 459 (2008).
- <sup>19</sup>A. V. Chechkin and R. Klages, J. Stat. Mech.: Theory Exp. 2009, L03002 (2009).
- <sup>20</sup>G. W. Ford and R. F. O'Connell, Phys. Rev. A 73, 032103 (2006).
- <sup>21</sup> Yu. Rui and H. Zhang, Chaos, Solitons Fractals 30, 946 (2006).
- <sup>22</sup>R. Figueiredo Camargo, R. Charnet, and E. Capelas de Oliveira, J. Math. Phys. 50, 043514 (2009).
- <sup>23</sup>F. Mainardi and P. Pironi, Extr. Math. **11**, 140 (1996).
- <sup>24</sup> A. D. Viñales, K. G. Wang, and M. A. Despósito, Phys. Rev. E 80, 011101 (2009).
- <sup>25</sup> R. Figueiredo Camargo and Ary O. Chiacchio, R Charnet, and E. Capelas de Oliveira, J. Math. Phys. 50, 063507 (2009).
- <sup>26</sup>K. S. Fa, J. Math. Phys. **50**, 083301 (2009).
- <sup>27</sup>A. Carpinteri and F. Mainardi, Fractals and Fractional Calculus in Continuum Mechanics (Springer, Vienna, 1997).
- <sup>28</sup> J. M. Porrà, K. G. Wang, and J. Masoliver, Phys. Rev. E 53, 5872 (1996).
- <sup>29</sup>I. Podlubny, *Fractional Differential Equations, Mathematics in Science and Engineering* (Academic, San Diego, 1999), Vol. 198.
- <sup>30</sup> H. Chamati and N. S. Tonchev, J. Phys. A **39**, 469 (2006).
- <sup>31</sup>E. Lutz, Phys. Rev. E 64, 051106 (2001).
- <sup>32</sup>R. Kupferman, J. Stat. Phys. **114**, 291 (2004).
- <sup>33</sup>N. Pottier, Physica A **317**, 371 (2003).